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DO0O000000000000 Inthefirst place the reason
Keynesian orthodoxy came into so much favour was because of a
widespread misinterpretation of the Great Depression. And it was
widely interpreted as showing that monetary policy couldnt work. It
was interpreted that way because of course all of the central bankers
kept saying that they were engaged in very easy money and that the
economy was declining in spite of them[ their actionslJ and not
because of theiractions. 1 0 000000000 odoOo
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OO00000000000000 Butwefound that the
situation was very different. Though in our opinion the Great
Depression was not a sign of the failure of monetary policy as it was
so interpreted] it was not a result of a failure of the market system as
was widely interpreted] it was rather a consequence of a very
serious government failurel] a failure in the monetary authorities to
do what theyd initially beensetuptodo. U O O O 0O O O O 0O [
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